DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARETOLDTO DO SO
o yitaenT 1 Tl 78 a6 7 Wiel 5= 7 el F 91

JDD-38/DOM.SC/X-14

POST CODE/ Tz #ia
67/10,185/12

Time Allowed : 2 hours

Write here Roll number and Answer-Sheet No.
TET T T I - ae e

Serial No.

036123

Roll No./ #iFsd T

Answer-Sheet No./ 3T -af=T T

OBJECTIVE TYPE ONE-TIER EXAMINATION

Maximum Marks : 200

Foffmams 12 W arq s Fa-feay udian Afisshan 3 : 200
Read the following instructions carefully before you begin to answer the questions.
T IR A e e P i s an A w A |
IMPORTANT INSTRUCTIONS TO CANDIDATES Frdtaam % fore wesarf sEm
1. This Botklet conltaing 200 guestions In all comprising the 1. 70 gt O 59 200 w4 8, fead Frafefies am
foffowing Seclions | i B
Sactions Test Components No. of _ Fage W | s s 5] e | v A
Quostans NoJ | bary | e sl 20 4-7
(A] 1} |General Awarensss 20 t—7 | |k
iy |General Intaligence and iy | v g w
Reasoning Ability 20 11 AT A 2 =11
o |t w0 |17 ||| om0 | -
w). [Test of Language : English 20 | 18-19 ) | ST Haam 1—;:.—41 20 1847
T Fost Speciic SubjeelReiaed v) | v e el 20 18-19
Cueshons 100 |zo—a7 | |l | o= vilahes B - qadigw 100 20-47
2. All guestions are compulsory and camy equal marks, 2. Wi uE i # qen e woE s R
3. The paper carries negative markings. For each wrong i3
anisuter 0.25 mash wil be deducind. 3. m:j s g (v 3w % o
4, In case ol any discrepancy beiween fhe English and Hindi .25 g i g i W
wersions of any question, the English version will be treated | 4. =f% el v & W= qen ofish s & = o 3, @1
a5 1'|na|."aiulheﬂﬂc. q_ﬁ -Eﬂ m i
: HATTE 1w HE
5 OMRB Anawer-Sheet-is enclesed In this Booklel. You must u e
compiets The datails of Roll Number, Question Bookliet No., | 5- ™ m-g’t’ﬁmﬁ‘aﬂ.qmm. T - Er-m? | 9T % I
ete, on he Answar-Sheat and Answer-Sheel No. on the aed § 96w B T A Fe-afE § A e e,
space provided above in this Question Boaklet, before you gﬁmﬁw‘sﬂﬁﬁmmm Eﬁlﬂﬁmﬁ?‘ 0 T
actually stari snswering the gquestions, faliing which your ] : : o
Answer-Shast will not be evaluated and you will be awardad ?ﬁﬁ*ﬁﬁ;ﬂm ﬁ;g | aFre T S - AT
‘ZERD' mark. Tl S S0 [ 3t e s |
6, You miust nol fear off or remove any sheel from this Booklet. e EIEH T A Al o e g
Tha Answer Shoot must be nanded ever 1o the Invigilator i E? & ami froer B - % Sl :
before You keave tha Examination Hall. . ke ET-!'E— R L et LT | -
7. Uss of CalculatorPaimicp/Laptop/Other Digital Instrumeny | 7. Seiere /vt /a5 fafee swwm A /4w
Mobile/Cell Phone/Pager is not allowed. wH e w IEm aEm
B. Candidates found guilty of miscopductiusing unfair means in K -
the Examination Hall will be iabie for appropriate penallegal | 8 T - m:;;"iﬁﬂ e 1 Tigﬁﬁi:ﬁ’l o TR e
action. Q‘E%IE'TH I: ,rétmﬁaﬁ Eﬁaﬁﬂ_ z
5. The ETBHHH Ir: '-_\It‘ls::jh d.li;l'j:!mgt xﬁgﬂmﬂ ;’DEQLD%?E Efil;ﬁ‘:';'ﬂfﬁd g Rimemidsmad A wodEa SR e fRmas
Has been explained 2t tho ba is . whigh yeu 5
should read carsfully belore actually answaring the quastions, ﬂh"ﬁ?' w a_.:cmg:r:ﬁ % I 8 TE m‘ﬂ’l GERRE H |
10. No Rough Work Is 1o be done on the Answer-Sheet, 10. WT§ T o7 T ~WiAe] O T8 w0 8 |

Go through instructions given in Page No. 48 (Back Cover Page)

Ax*x

A=




% JDD-38/DOM.SC/X-14

SECTION - A
| i) General Awareness

Name the self-styled godman who
was arrested recently from his
12 acre mansion like Satlok Ashram

6. As a measure towards financial
inclusion of the poor in the national
mainstream, Government of India

in Hisar district of Haryana. launched the which aims to

(A) Premial (B) Shyamial provide atleast one bank account to
(C) Rampal (D) Sathpal each household. ;
(A) Pradhan Mantri Jan Dhan Yojana
2. Pankaj Advani is associated with (B) Pradhan Mantri Jnan Dhan
(A) Snooker Yojana
(B) Badminton (C) Pradhan Jan Yojana
(C) Tennis (D) None of these :
(D) Chess , ) )
7. The main objective of the 12" Five
3. FDI stands for Year Plan 8
(A) Foreign Directors Investment (A) Inclusive growth and poverty

reduction
(B) Inclusive and sustainable growth
(C) Poverty reduction
(D} Inclusive education

(B) Foreign Direct Investment
(C) Fair Deal Investment
(D) Family Direct Investment

4. World Trade Centre in New York was
attacked by terrorists on

(A) September 9

8 Which of the following Kingdoms
were associated with Buddha ?

(A) Avanti (B) Gandhara
(B}, ~aploaiar 11 (C) Kosala (D) Magadha
(C) September 21
(D) September 19 g. Vitamin C deficiency causes
, i - (A) Scurvy
5. Who is the first BJP Chief Minister of (B) Rickets H_

Maharashtra who was sworn in on : ;
(C) Night blindness

31-10-2014 7

(A) M. L. Khattar (D) None of these

(8) Gopinath Munde 10. Garba is a dance form of

(C) Ravindra Pande (A) Karnataka (B) Punjab
(D) Devendra G. Fadnavis (C) Odisha (D) Guijarat

Ax* A




JDD-38/DOM.SC/X-14

0
i) | ATTER
. Y H] E-TE Fed e, Bl aed 6. TS e g H ferfia gues @ i
H 30% 12 Ushs | %ol Hee 98 HadlE Sired &1 fewn § 9d W A
Fm § o g & fan G d 2 aReg <t o1 & 9iER 4 w9 4 5 v
TR o T o, 3g e 2 e T HET U w5 ey TEaT R |
(A) et (B) W (A) e HEf = o e
(C) WA (D) w9 (B) 9uIH Tt S S T ey
D U (C) THT 5 AT
W T (@) e Wy e
(G} "< sy g 7. 12 i qemniie A 5 vE 3t
U S A1 5 e 2 (A) wfFTem B i il w5y w2
(A) HIA TR SR (B) iR iR sz fawm
(B) Wi TR T2 (C) TR = S
(€) W Zier gawe (D) HfeTea fen
(D) FiHe 2rgiae s
8. fmdasrmmra g dmifgagr?
3 38 T e R an N oinig
(A) FEerg & =
(B) Toamst 11 9. FefEdsaymwmasm
(C) ﬁ@rﬂétm A) el
(D) faar 19 ®)
TRRTSE 159 & Wt ol 3 o) sy 4 (C) et
® 1 31-10-2014 #1 vy Rafa 2d 2 O) FEAREE .
(A) TH. UE. @A
@) M 10. TRE 3% T6F TR 36 T4 &1 8
(©) iz aws (A) FAieH (B) W@
(D) F=zh weufg (C) sirim (D) ToRTd

e




11,

12.

13.

14.

In addition to fingerprint scanning,
which of the following is the biometric
identification of a person ?

1. lris scanning

2. Retinal scanning

3. Voice recognition

Select the correct answer using the
code given below :

(A) 1 only

(B) 2 and 3 only
(C) 1 and3only
(D) 1,2and3

Among the following organisms
which one does not belong to the
class of other three ?

(A) Crab (B) Mite

(C) Scorpion (D) Spider

The power to increase the nurmber of
judges in India is vested in

(A) The President of India
(B) The Parliament

(C) The Chief Justice of India
(D) Law Commission

The main purpose of the spacecraft

“messenger” is

(A) Orbiting the Venus

(B) Orbiting the Mars

(C) Mapping and investigating the
Mercury

(D) None of the above

15.

16.

17.

1B.

19.

20.
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Which of the following languages has
been declared as ‘“classical
language” by the Government ?

(A} Kannada (B) Gujarati
(C) Konkani (DY Tulu

Where is Dampa Tiger Reserve
located 7

(A) Nagaland (B) Mizoram
(C) Karnataka (D) Kerala

Which one of the following Schedules
of the Constitution of India contains
the names of the Indian States and
Union Territories ? ;

(A) Fourth Schedule
(B) Third Schedule
(C) Second Schedule
(D) First Schedule

The national motto of India
‘Satyameva Jayate' inscribed below
the emblem of India is taken from

(A) Katha Upanishad

(B) Chandogya Upanishad
(C) Aitareya Upanishad
(D) Mundaka Upanishad

Mr. Viadimir Putin is the President of
(A) Germany

(B) Poland

(C) Russia

(D) Peoples Republic-of Korea

Where is the 45" International Film
Festival of India 2014 held ?

(A) Panaji (B) Chennai
(C) Mumbai (D) Hyderabad
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23.

24,

25.

AND :CPF::PET:?

(A) RFV (B) RGV
(C) QGv (D) RGU
5 7 9

11 13 15

17 19 ?

(A) 20 (B) 22
(C) 21 (D) 23

Inthe alphabet ABCDEFGHIJK
LMNOPQRSTUVWXYZ
name the letter which is fifth to the right
of the letter which is 9" from the right.

(A) P
(B) W
cy T
(D) R

Among the letters GUARD, GUEST,
GOAT, GREAT, which one appears
last in the dictionary ?

(A) GREAT

(B) GOAT

(C) GUEST

(D) GUARD

Which of the following words cannot
be formed from the letters of the word
“PECULIAR" 7

(A) PLACE
(B) RAIL
(C) LIME
(D) CARE

JDD-38/DOM.SC/X-14
if} General Intelligence and Reasoning Ability

Directions (Qs. 2610 27): P, Q, R, 5, T, U,
V, W are sitting in a circle facing its centre.
S is sitting diametrically opposite to W who
is sitting in the middle of V and U. T is sitting
to the immediate left of S and to the
immediate right of Q. P is diametrically
opposite to Q and between (middle of) Vand R,

26.

27.

Who is sitting immediately fo the right
ofS7?
(A) P
c T

(8) R
o) v

Who is sitting second to the right of
W ?

(A) Q (B) R

(€) S by T

Directions (Qs. 28 10 29) : A is shorter than
D but taller than €, E is taller than B but
shorter than C.

28,

29.

30.

Who is the tallest ?

(A) C (B) E
(C) B (D) D
Who is the shortest 7

(A) E B) C

C) B D) A

P is the mother of Q and wife of B. If S
is the daughter of R, how is Q related
toR?

(A) Brother

(B) Sisler

(C) Son or Daughter

(D) Uncle
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23.

24.

25,

. AND:CPF::PET:?

(A) RFV (B) RGV
(C) QGv (D) RGU
5 2 /B
11 13 18

fy g

(A) 20 B) 22

© 2 (D) 23

ABCDEFGHIJKLMNOPQR
S TUVW XY Zavien # aife i
& 9 F ate A IR i weR 2
(A) P
(B) W
e T
D) R

GUARD, GUEST, GOAT, GREAT,
oredt 1 B yrseae B e wes e
YT S ?

(A) GREAT

(B) GOAT

(C) GUEST

(D) GUARD

BECULIAR’ yrs¢ & srerii & o A |
FE] I8 TR T §1EEaT ?

(A) PLACE
(B) RAIL
(C) LIME
(D) CARE
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’ 32.

A walks 3 kilometers straight to the
West and turns to his right and walks
straight 2 kilometers to the North. In
which direction was he initially from
his last position ?

(A) West

(B) South East

(C) South West

(D) MNorth

237521685213962174526
362185219

The above series, how many 2's are
there which are immediately
preceded by 5 and immediately
followed by 1 7
(A) 3
(C) 1

(B) 2
(D) 4

What is the angle between the minute
and the hour hands at 12' O clock ?

(A) 90" (B) 180°
(C) 0O° (D) 300°

Directions (Qs. 34 and 35) : Identify the word
which is not a member of the group of the
other three.

34.

35.

A*

(A)
(B)
(C)
(D)

Green
Flower
Red

Yellow

(A)
(B)
(©)
(D)

Bengali
Telugu
Bihar
Kannada

36.

37.

39.

40.

JDD-38/DOM.SC/X-14

If HKUJ means FISH, what does
UVCD mean ?

(A) STAR
(B) STAB
(C) STAL
(D) STAK

fA=1, PAT =37, Then TAP = ?
(A) 73
(B) 39
(C) 36
(D) 37

What will come in place of the
question mark (?) in the following
series 7
N5V,K7T,H10R,?,B18N

(A) E14P B} E12P

(C) E14Q (D) F14P

In a certain code ‘lee ra de' means
‘what was it’, “mo nil” means *you go”,
“nil pom ra” means “you like it" and
“tok lee fo" means “she was sick”™. How
will you write “what you like” in that
code 7

(A) de nil pom
(C) nilralee

(B) pomralee
(D) none of these

=

If “+" means maa?ls +, X
means "+" “+" means x,
16+10x2-9+1=7

(A) 18 (B) 19

(C) 20 (D) 25
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32. 237521685213962174526

3621852189

Sl gEen § wE fEe 2 8 o g
A SRR ART1E?

(A) 3 (B) 2

(€ 1 (D) 4

125 e fi g SR AR+ 6=
T fereT ST B2 2

(A) 90° (B) 180"

(C) o (D) 300°

v (3. 34 371 35) : T v1ee wEATHY 511 I
% TR F T 2 |

34. (A)
(B)
(C)

35.

11-

36.

37.

38.

39,

40.
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I HKUJ &1 9aes FISH R, aTUVCD
] ererd TR 7
(A) STAR
(C) STAL

‘
(B) STAB

(D) STAK

T A=1,PAT=378 @I TAP=?

(A) 73 (B) 39

(C) 36 (D) 37

et g@en oy fag (2) 6t sore ==
ST ?
NSV,K7T,H10R,?,B18N

(A) E14P () E12P

(C) E14Q (D) F14P

u ffvea %52 1 ‘lee ra de' &1 Hawd
‘what was it 2191 8, “mo nil" 1 gae«
“you go" BT, “nil pom ra” = Foeid
£ £ “you like it” 3R “tok lee fo” T
THeE B8 “she was sick” lE‘H@Eﬁ

H19 “what you like” %1 %4 fordn 2

(A) de nil pom
(B) pomralee
(C) nil re lee

(D) o @ = e

af2 4 S S 7, "I T 4
2, 'x' & Hao “" B #HR " W aad
)2l

16+10%x2-9+1="7

(A) 18 (B) 19

(C) 20 (D) 25
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42.

43.

45.
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iii) Arithmetical and Numerical Ability

The least number which must be
added to 220 to make it a perfect
square is

(A) 1 (B) 5

(C) 9 (D) 4

‘A’ can complete a work in 10 days,
‘B’ in 15 days. Find the ratio of their
capacities for work.

(A) 2:5

(B 3:2

€)' 10:85

(D) 4:6

What will be 30% of a number whose

90% is 54 7
(A) 36
(C) 12

(B) 72
(D) 18

A toy was sold at a gain of 12%. Had
it been sold for Rs. 33 more, the gain
would have been 14%. The cost price
of the toy is

(A) Rs. 1,800
(B) Rs. 1,600
(C) Rs. 1,650
(D) Rs. 1,550
A train. 75 m long, takes 20 seconds
to cross a tree by the railway line.

What is the speed of this train in
km/hour unit 7

(A) 40.5
(B) 135
(C) 81
(D) 27.5

42-

486,

47.

48.

49.

50.

Ashok borrows Rs. 30,000 at 5%
simple interest and lends it to Bhasker
at 5% compound interest. If both of
them repay the loan after 2 years,
Ashok's profit is

(A) Rs.3,000
(B) Rs.25
(C) Rs.75
(D) Rs. 3,075

A trader marks his goods 40% above
the cost price and given a discount of
20% on the marked price. Find his
gain percentage.

(A) B
(C) 8

®) 12
©) 9

H.C.F.of1.08,0.36and 0.9 is
(A) 0.18

(B) 0.108

(C) 03

(D) 0.9

The ratio of A's money to thatof B's
money is 4 : 5 and B's money to C's
money is 2 : 3. If A has Rs. 800, then
the total amount (in Rs.) of A, B and
Cis

(A) 3,250 (B) 3.200

(C) 3,350 (D) 3,300
1 1

Ifx+ —5 x2+ 7 =7

(A) 25 (B) 24

(C) 23 (D) 22
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52.

53.

99.

PQ and PR are two tangents to a

circle with centre O. If | QPR =607,

then |QXR (where X is a pointon the
minor are QR of circle), is

(A) 100° (B) 120°
(C) 60° (D) 80°
Medianof4,2.3,2,3,5,3is
(A) 2 (B) 4
(C) 3 D) 5

If log 30 = 1.4971, log 300 =7
(A} 14.971
(B) 149.71
(C) 3.1487
(D) 2.4971

. 3
IfsanA:—g.casA:?

(A) (B)

sl Qo
nltn G|

(C) (D)

The area of the curved surface a
cylinder is 4400 cm? and the
circumference of its base is 110 cm.
Find the height of the cylinder.

(A) 40cm
(B) 50cm
(C) 100cm
(D) 80cm

56.

&7

58.

29.

60.
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In a single throw of a die, find the
probability of getting a number less
than 7

® ® 3

Il skl

(©) o) 1

The probability of an impossible event
is
(A) 1 (B) 0

(C) D) =

1
2

Two poles of lengths 5 m and 8 m are
fixed vertically to the ground. The
distance between their bottoms is
4 m. Find the distance between their
tops.

(A) 3m

(C) 5m

(B) 4m
(Dy 6m

The order of matrix “A”" is (3 x 2) and
order of matrix "B" is (5 x 2), order of

AB' is

(A) (3x2)
(B) (3x5)
(C) (5x3)
(D) (2x3)

=7

Lot =8
*o*a" 3

ol B

(A) 0 (B)

N

3
Cg (D)
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iv) Test of Language : Hindi
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v) Test of Language : English
TaT TS @ S

Directions (Qs. 8110 85) : Read the passage
carefully and choose the best answer out of
the 4 alternatives given to each of questions.

Today perhaps your only association with
the word 'polio’ is the sabin oral vaccine that
protects children from the disease. Fifty five
years ago, this was not so. The dreaded
disease, which mainly affects the brain and
the spinal cord, causes suffering and
weakening of the muscles, crippling and
paralysis-which is why | am in a wheel chain
today. If somebody had predicted, when | was
born, that this would happen to me, no one
would have believed it. | was the seventh
child in a family of four pairs of brothers and
sisters, with a huge 23 year gap between the
first and the last. | was told that, unlike others,
| was so fair and brown haired that | looked
more like a foreigner than a Dawood Bohri. |
was also considered to be the healthist of
the brood.

81. Polio, the dreaded disease mainly
affects the

(A) heartand spinal cord
(B) brain and spinal cord
(C) brain and nerves

(D) brain and heart

82. To say something about the future is

to
(A) addict (B) verdict
(C) predict (D) protect

83. The narrator was the seventh child in
a family that had
(A) Ning children
(B) One score children
(C) Eight children :
(D) Twenty three children

84. The narrator of the passage is a
patient of

(A) Heart disease
(B) Polio

(C) Diabetes

(D) Cancer

85. What made the narrator look like a
foreigner ?
(A) He was fair and skinny
(B) He was fair and brown haired
(C) He was fair with red hair
(D) He was dark and blonde

Directions (Qs. 86 to 90) : In the following
passage some of the words have been left
out. Read the passage carefully and choose
the correct answer to each question out of

the four alternatives and fill in the blanks.

Whenever | 86 at the moon, my heart 87 with
pleasure. | wish |had88 10 fy up to the moon.
| know if | could 89 to become an 90, | would
be able to go to the moon.

86. (A) Looked (B) Saw
(C) See (D) Gaze
g7. (A) Fills (B) Filled
(C) Field (D) Feels




88. (A) Hands (B) Legs

(C) Wings (D) Feelers
83. (A) Growup (B) Mow

(C) Blow (D) Show
90. (A) Astrology (B) Astronomy

(C) Aristocrat (D) Astronaut

Directions (Qs. 91 t0 94) : Find out which
part of a sentence (A), (B), (C) has an error,
If there is no error, mark (D) as your answer.

91. Each of these boys (A)/play (B)/
games (C)./No error (D)

92. Peoplewholive on (A)/glass houses (B)/
shouid not throw stones (C)./ No error (D)

93. The students were (A)/ awaiting
for (B)/ the arrival of thechief guest (C) /
No error (D)

94, He discussed (A)/ the murder case
(B)/with his juniors (C)./ No error (D)

95. Choose the word which best
expresses the meaning of Logical
(A)
(C)

Responsive (B) Rational

Educated (D) Improper

96. Choose the word opposite in
meaning to the word ‘Persuade’.

(A) (B)
(C) Dissolve (D)

Promode Pervade

Dissuade
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§7. Find the correctly spelt word.
(A)
(C)

Endevour
Endeavour

(B) Endaevour

(D) Endeavor

98. Choose the alternative which best
expresses the meaning of the
underlined Idiom/Phrase. 3

He broke down when he heard the
news of his son's death.

(A) finished his job

(B) ceased to smile

(C) stopped weeping

(D) wept bitterly

Directions (Qs. 9910 100) :

99. Choose the which can be substituted
for the given words/sentence.

“A remedy for all diseases”.

(A) Cough syrup

(B) Panacea

(C) Medicine

(D) Inhaler

100. Select the alternative which

expresses the given sentence in

indirect speech.

He said, “Babies, drink milk”.

(A) He said that babies drink milk

(B) He said that babies drank milk

(C) He advised the babies to drink
milk

(D) He told that babies should drink
milk

-19-
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SECTION-B
Post Specific Subject-Related Questions
101. The word textiles comes from the Latin 105. properties are of biological in
word nature of a fibre.
(A) Fibre (A) Resistance to mildew
(B) Fabric (B) Resistance to insects
(C): Cloth (C) Resistance to sunlight
(D) Woven (D) All the above
102. A staple fibre is measured in 106. All man made fibres are filament
(A) Inches fibres. A
(B) Centimetres (A) True
(C) Both A)and B) (B) False
(D) None
(C) Absurd
103. is a process of making fibres (D) Not related

material into yarn or thread.
107. The only natural mineral fibre is

(A) Spinning
(B) Ginning (A) Asbestos
(C) Weaving (B) Alpaca
(D) Stitching (C) Nylon
j (D} Polyester
104. is the ability of a fibre to spring
back to return to original shape after 108. The protein of wool is known as
compression.
(A) Carbon
(A) Absorbancy
g (B) Hydrogen
(B) Resiliency .
(C) Elasticity (C) Keratin
(D) Lustre (D) Oxygen




101,
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104,
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1086.

107.

108.
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108.

110.

111.

Ax*

The production of cocoons for their
filament is called

(A) Agriculture
(B) Tissue culture
(C) Vermiculture

(D) Sericulture

The finest quality of raw silk was
produced by, a species of moth

(A) Bombyxmori
(B) Fibroin
(C) Sericin

(D) Mildew

Before 1924 was called as
artificial silk.

(A) Nylon
(B) Rayon
(C) Polyester

(D) Acetate

Tt

113.

114.

e e e e
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The first manufactured nylon is
referred to as nylon

(A) 6,6
B 7.7 .
(C) 8,8

(D) 9,9

A strong fiber has long polymers and
a weak fiber has short polymers.

(A) True
(B) False
(C) Not related

(D) Absurd

The word ‘silver’ comes in yarn
construction of

(A) Linen
(B) Wool
(C) Silk

(D) Cotton

({Pr?




B

109, a3 T wen ¥ Fififelt =01 e

(A) F

(B) ferper

(C) FHIEH

(D) FrrEhTe-TTer (T 3eTE)
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(A) Bombyxmori
(B) Fibroin
(C) Sericin

(D) Mildew

. 1924 9d 1 Hm T3 Fad
|

(A) B
(B) @™

() dferE
(D) Tz
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116.

117,

118.

A*

Viscose Rayon is made by
spinning.

(A) Spinning
(B) Wet Spinning

(C) Dry Spinning

(D) All the above

SP] stands for

(A) Stitches For Meter
(B) Stitches Per Image
(C) Stitches Per Inch

(D) Neone

The term silhouette is

(A) Grain line

(B) Outer shape of any garment
(C) Inner shape of garment

(D) Extralarge

Feel and appearance of any
surface is

(A) Texture
(B) Shape

(C) Colour

(D) Line

119.

120.

121.

122.

JDD-38/DOM.SC/X-14.

The most widely used bleaches are
(A) Chlorine bleaches

(B) Hydrogen peroxide bleaches
(C) Both

(D) MNone of the above

Patola belongs to
(A) Bengal

(B) South India
(C) Banaras

(D) Gujarat

A line where collar is joined to neck
(A) Roll line

(B) Ceollar line

(C) Neck line

(D) None of these

A stitch does not have 3,
(A) Size
(B) Tension

(C) Depth

(D) Consistency
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119, sy ST i sTraTen foeeh (5E)

116.

117.

118.

ﬁsﬁmﬂaﬂﬁawﬁaﬂlﬁaﬁzﬁ
FEAT

(A) &
(B) K
© ™

(D) wrEd

120.

121.

122

TSt @ S S e el S
(A) T ST

(B) e T

(C) IFTH

(D) FHHFE I

Zi ¥ T B

(A) TR

(B) M
(C) T
(D) wfd
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124.

B et il T |

125.

A*

Katan silk is an unbleached silk
(A) True

(B) False
(C) Not related

(D) Absurd

Chief guide in the selection of food in
the pastis

(A) Custom
(B) Habit
(C) Appetite

(D) Al

Carotene in the body changes into
Vitamin A in the

(A) Pancreas

Liver

(B)
(C) Gall Bladder

Intestine

(D)
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126. This combines with iron to produce
haemoglobin in the body

(A) Zinc
(B) Sulphur 55
(C) Sodium

(D) Copper

127. Food research lab at Kannur in the

South conducted lot of experiments

on

(A) Peas

(B) Pulses

(C) Soyabean

(D) Cereals

128. Glycogen is stored in

(A) Liver and Muscle =
(B) Kidney and Teeth
(C) Carbohydrates and Lipids

(D) All the above




A*
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127.

128.
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129.

130.

131.

% 132.

A*

Leucine is an
(A)
(B) Non-essential amino acid
(Cy Lipid

(D) Carbohydrates

Essential amino acid

Phrynoderma is a deficiency
disease of

(A)
(B)
(C)
(D)

Essential amino acids
Essential fatty acids
Vitamin E
Carbohydrates

Examples for fat-soluble vitamins are
(A)
(B)
(€
D)

Riboflavin
Vitamin C
Vitamin A, D, E, K

Niacin

The gross energy value of fats is
k.cal/gm.

(A)
(B)
(©)
(©)

9.01
9.02
9.40
9.45

133.

134.

135,

136.
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Bitot's spot is the deficiency of
(A)
(B)
(C)
(D)

Vitamin D
Vitamin C
Vitamin B

Vitamin A

Thiamine deficiency leads to a
disease called

(A) Beri-Beri
(B)
(C)

(D)

Pellagra
Anaemia

Scurvy

______rich source of Vitamin ‘C’.
(A)
(B)
(C)
(D)

Amla

Guava
Lime-Juice
All the above

Cabbage and Cauliflower coniains
Goitrogens e

(A)
(B)
(C)
(D)

True

False

Not sure
Not related
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131.

132.
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() fafie
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(A) 9.01
(B) 9.02

(C) 9.40
(D) 9.45

133.

134.

135.

"1 136.
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137.

138.

1389.

140.

Full form of B.M.R. is
(A) Basic Metabolic Rate
(B) Basal Metabolic Rate
(C) Bomb Meter Rate

(D) Big Meter Rate

To beat with a rapid lifting motion to
incorporate air is

(A) Whip

(B) Mash

(C) Beat

(D) Bind

is done by immersing the
food in a liquid just below the boiling

point.
(A)
(B)
(C)
(D)

Stewing
Simmering
Steaming

Grilling

is an Eco-friendly method of
cooking.
(A) Microwave cooking
(8) Frying
(C) Solar Cooking
(D) Pressure cooking

A*

141.

142.

143.

144.
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the method of enhancing
nutritive value.
(A)
(B)
(©)
(D)

Germination
Fermentation
Fortification
All the above

Oral fluids does not includ
(A) Whey water

(B) Barley water

(C) Milk

(D) Fruit punch

acts as a precursor of
Niacin.
(A) Tryptophan
(B) Lysine
(C) Histidine

(D) Valine

Human Development is the scientific
study of processes of change and
stability throughout the”human
lite-span definition was given by

(A) Nickell Dorsey
(B) Laura E Berk
(C)
(D)

Papalia and Olds
Hurlock

7.
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139.
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140.
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141,
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144.
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(A) FHFwI
(B) fFoam

(C) qedteRtor
(D) FHIaE

@ -5 1 g wfee e gl
(A) =& HIAH
(B) i1 gHT
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(A) T (Tryptophan)
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145.

146.

147.

148. The duration of pregnancy is also

A*

The period of infancy lasts from

(A)
(B) Two weeks to two years

One week to one year

(C) Oneweekto six months

(D) Two years to three years

Mator control proceeds from head
region to the leg region

(A)
(B)
(C)
(D)

Cephalocaudal law
Proximo Distal law
Davelopment law

None

Stopping of menstruation is the first
indication of pregnancy is

(A)
(B)
(C) Fatigue

Menarch

Miscarriage

(D) Amenorrhea

known as period.
(A)
(B)
(C)

)

Hormonal
Offsprings
Gestation

Variational
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149. Period of ovum lasts from

to
(A)
(B)
(C)
(D)

0 — 2 weeks
0 — 4 weeks
0 — B weeks

0 — 8 weeks

150.
oily greasy layer called as

(A) Lanugo

(B) Vernix caseosa
(C)
(D) Oblique

Fontanellas

151.

Instrumental Birth
Precipitate Birth

(A)
®)
(©)
©)

Caesarian section

Breech Birth

152. Insomnia refersto
(A) Sleeplessness

(B) Restlessness

(C) Tastelessness

Senselessness

(2)

The foetus is covered with a white,

The Baby's buttocks or legs comes
out first in child birth is referred as
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153. The thick yellowish liquid produced
for the first two or three days after the
Baby is born is

(A) Calcitonin
(B) Colostrum
(C) Quickening

(D) Estrogen

154. Making sounds like MA...MA,
DA...DA, or DI...Dl. In language

development is referred as
(A) Crying

(B) Cooing

(C) Babbling

(D) Gestures

155. Curiosity is emotion.

(A) Positive
(B) Negative
(C) Mixed

(D) None

A*
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1586. is the process of changing
Baby’s diet from liquid food to semi
solid and solid foods.

(A) Changing
(B) Feeding
(C) Galping

(D) Weaning

157. transmit genetic

information.

(A) Teratogen
(C) Placenta

(D) RH factor

learning theory.
(A) True
(B) False

(C) Not related

(D) Absurd

158. Albert Bandure developed the
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154,

155.

A*
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Mg e 59 39 BiT 8, 36 Fed 8

(A) wfeaaif=
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(D) wESiA
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(A) T
(B)

(C) qeeTHT
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(C) f=

(D) i
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" % EE WER S
3 -3 1 3w =R 4 uhafda s
= ufEa |

(A) ufEdasfia

ST AT R i A
2

(A) ST
(B) EMEM
(C) wdi(wrr=n)
(D) RH ¥

e sigl A 3 o T fora |
(A) =

(B) e

(C) wwm=Fad

(D) FETE
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158.

160.

161.

A*

To make excuses or giving
acceptable reasons instead of real
ones is called

(A) Socialization
(B) Rationalization
(C) Construction

(D) None

when children grow and
become more interested in their
gentals.

(A) Oral stage
(B) Anal stage
(C) Phallic stage

(D) Latency period

Inadequate supply of oxygen during
the birth process is

(A) Ancxia
(B) Ultra sound
(C) Amniccentesis

(D) Fetoscopy

162,

163.

164.
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‘Sour grape reaction is antonym of

(A) Socialization
(B) Constructive play
(C) Rationalization

(D) Sublimation '

Muscle tissue makes up % of
the infants weight at birth.

(A) 20to25%
(B) 301t040%
(C) Almost 50%

(D) 70%

A process of change which is
relatively independent of experiences

(A) Learning
(B) Maturity

(C) Cognitive Development

(D) Motor Development
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159

160.

161.

FEr FE g1 a6 s wiE wiwR
T 3T, 1 Fad B

(A) \HEIE
(B) HferEfist
(Cy HT=Al

(D)

T S R oI & e o TS 15
% o 7 arfies w=fi fommd €, 39 s
=1 FEd 8

(A) 7@ - FFAT

(B) g — A==

(C) T&m srawen

(D) e

A -9 TRAT o A ST T o g
ATgfd € | B 8

(A) Anoxia

(B) Ultra sound

(C) Amniocentesis

(D) Fetoscopy

162.

163.

164.
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‘@ s wfafen o g Adm R
(A) EETfEE

(B) TAATHE ATEFR

(C) Afarerehr

(D) IETE

S ¥ gug w= % wig g o ae
I 9 e |

(A) 207# 25%

(B) 30# 40%
(C) TFTT 50%

(D) 70%

ufrad =t whan st 31999 § SR
waa B

(A) e ufe
(B) gRga=Edl
(C) G e

(D) = fawm



165. According to Jean Piaget the cognitive
development has following stage

(A) Functionalist stage
(B) Post-operational stage
(C) Sensorimotor period stage

(D) All of above

166. LAD is a short form of

(A) Lennerberg Assestion
Development
(B) Language Advancement

Development
(C) Language Acquisition Device

(D) MNone

167. Psycho analystic theory was
proposed by

(A) Marry Ainsworks
(B) Bowlby
(C) Piaget

(D) Freud

A*

168.

162,

170.
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The realistic part of our personality
that helps us to gratify your basic
needs in various ways

(A) Id
(B) Ego
(C) Super Ego

(D) De dipal complex

is the time when sexual
maturity is reached.

(A) Puberty
(B) Adolescent
(C) Phallic stage

(D) Anal stage

value is the feeling of
satisfaction and fullness and not
feeling hungry till the next meal.

(A) Pyramid
(B) Food Group ¥

(C) Satiety

(D) Diet
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165. 9 713 % srgaw waoe o
Feami

(A) Teramefiefi 5w

(B) uitwrer Tv= 5w
(C) T are wafy =
(D) 9diasf

166. LAD ¥ 391 B121 @%J &
(A) w=Rart 3TEIE LEeATe
(B) TS UsaTHvE SHeTHvE
(C) e ufisforem feagm
(D) g

167. wIave e faga 399 weafaa e
(A) g
(8) i
(C) fire

(D) %=

168.

169.

170.
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TR et el &1 i adienl @ e
FH, 1 BUH S fered o1 agvefand s
TR

(A) =W (Id)

(B) 378 (Ego)

(C) I8H (Super Ego)

(D) wigEf

RIERECCEIRUEEE ROk
(A) wEuTg

(B) FereTrEEa

(C) ferm svaeen

(D) e FHETT

__ grae A iR piarw sE
31 30Te! WIS & Yae @ 7 @ |

(A) foodfis

(B) ERIWYE :
(C) uhgfa

(D) SER
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171. resources are less tangible 174. is the process of selecting

and cannot be easily determined. a course of action from a number of
alternatives.

(A) Non Human
(A) Plan making

(B) Human
(B) Delegating

(C) Community

(C) Managing .

(D) All the above
(D) Decision making

1?2. Hﬂm& manageﬂ"lﬁﬂ! iB USing What 1?5 Tﬁgks wh'ch mwa ugmg:m-a_:s |E‘g$ .

r have to get what want. is effort.
(A) You (A) Visual
; (B) We (8) Torsal
i (C) They (C) Pedal
: _
f (D) All {D] Manual
‘ : ! 176. Satisfaction derived from all material
- 173. is the first step in _ =
. goods and services are referred as
management process. ey
- income.
1 :
I (A) Controlling (A) Psychic
i (B) Planning (8) Money !
?J (C) Organizing (C) Real
v (D) Implementing (D) Family

I Ax* -40-




172.

173

i %Y gnaiaes Bid 8 AR
s A Fulfaad B s ewd g |

(A) SHgFET
(B) HHEE

(C) #H=E
(D) =g

(D) wt

CERER e R
(A) FreEm
(B) HEEH

(D) =A==

174.

175.

1786.
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 wmyufEmd ww see il
4 usp pa-Rrf s g 2
(A) ST AT
(B) ufaF=H
(C) HaeH

(D) e

Basdd s W s e e 3g
 mHEwEd R

(A) Tfte
(B) g
(C) ufEs

(D) &3

it difas ’S ot "o & | ™
FANFIFEIIAME I

(A) AR
(B) &4
(C) arfa

(D) uhEm
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177. A person who buys gocds or services

from the market of his use is
(A) Producer

(B) Consumer

(C) Merchant

(D) Shop keeper

178. tools in time management.
(A) Peak load
(B) Work curves
(C} Rest period
(D) All the above

179. Time and motion study was done by
(A) Gross and Cranpell
(B) Nickell and Dorsey
(C) John Piaget
(D) Elizabeth Hurlock

180. Pick the odd one among the
characteristics of resources

(A) Useful
(B) Accessible
(C) Unlimited

(D) Interchangeable

181.

182.

183.

184.

JDD-38/DOM.SC/X-14

The important difference between a

‘home and a house is

(A) Physical
(B) Environmental
(C) Emotional

(D) Terminology .

Forms are closely related with
(A) Circles

(B) Square

(C) Rectangle

(D) Lines

Balance is the principle of design that
produces a feeling of rest and
contentment this is said by

(A) IBID
(B) S. Sundara Raj
(C) Craig and Rush
(D) None

Envirenmental noise is a
(A) Physical barrier
(B) Semantic barrier

(C) Technical barrier

(D) Social barrier




177. S =afe 3o Iud o aegd o et | 181, R S HHE A HEEl SRR 2

AR Y GlEd e, ¥ g (A) shfas

(A) 3eHEH (B) waiawfta | o
| (B) SHET (C) wWHETHS
. (C) =t (D) TR

Al 182. &0 42 3d fwe gy waa 2

178. E9F HaTeH & 390 2 (A) =W

(A) T EE T ®) =

(B) = T b

(C) =AM = &5z adba
| (D) FHdas 183. HeH I8 SihTEeT 1 faer &St
ii | S SR Ay =l i Pt s 8
@ 179. HAE sy %1 weres wo fear — T 5 e
i (A) T SR FIH (A) 1BID
| ®) Friva s e S N
-] ©) e (C) s T

(D) UieTsied §Telih 8

180,  Hia i Bwani 4 3 e w1 gfin 184. ki afi &

(A) SR (A)  sifers = )
(B) Afpmey (B) e s

. (C) wEhfEm (C) repetrahl =TerT

o aes | (D) EmSER




185.

1886.

187.

188.

Message has three components
(A) Knowledge, Attitude, Interest
(B) Code, Content, Treatment
(C) Initial, Derived, Terminal

(D) Channel, Code, Audience

Credibility can be
(A) Initial

(B) Derived
(C) Terminal
(D) All of these

The methods adopted for community
development are

(A) Extension

(B) Community Organisations
(C) Programmes

(D) All of the above

The role of community development
facilitator is

(A) Student
(B) Attender

(C) Guide

(D) Cleaner

189,

190.

191.

192.
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A democratic leader is the one who
involve the members in decision
making.

(A) True

(B) False
(C) Notclear
(D) Absurd

Example for vocational teaching
(A) Distance education

(B) Carpentry

(C) Open University

(D) None

___ chartisin the shape of circles
and used to show how several parts
make up the whole.

(A) Tree

(B) Pie

(C) Flow

(D) Pull

is the powerful medium of

communication.
(A) Radio

(B) Hand set
(C) Transistor

(D) Television

-
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186.

187.

188.

HmF A geE T B

189.

190.

197,

192.
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A Yo = & st o weE A
Fyoty o3 £ wira § afnfea a2 |

(A) @

(B) A
(C) FFETe
(D) &

SR e SeE R
(A) 2w g e

i ga S SRR e 8 SH
s e mvh 1 v @ 6, Rl am
fererort U T S AN 8 |

(A) &

(B) 4T (Pie)

(C) i

(D) e (Pull)

| agaemorEvifEeel TreEn R |
(A) e

B T

(©) whmEa

(D) ferfesH

-
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193.

194,

195.

196.

study aims at deep and
detailed study of the unit.
(A) Panel
(B) Evolutionary
(C) Case
(D) Comparalive

The interview method depends on
individual researches

(A) Ability

(B) Capability

) Communication

(D) Sensitivity to situation

Ministry of textile was created in
November

(A) 1959
(B) 1970
(C) 1977
(D) 1989

Sliding or slipping of weft yarns over
warp yarns or Vice-versa is

(A) Hand feel

(B) Yarn Slippage
(C) Weaving

(D) None

197.

198.

189.

200.
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The office of the development
commissioner for handicraft is
located at

(A) Calcutta

(B) Madras

(C) Mumbai

(D) New Delhi

Hypothesis cannot be stated in
(A) Null and question form terms
(B) Declarative terms

(C) General terms

(D) Directional terms

Which of the following is most

appropriate ?

(A) Teacher can teach

(B) Teachers are born genius

(C) Teachers help can create in a
student a desire to learmn

(D) Lecture method can be used for
developing thinking

Yarn stretch is done by heat setting.

The first nylon stretch yarm was
(A) Wintuk <
(B) Helanca

(C) Bi-Loft

(D) None




193,

194.

196.

196.

A AR AT T
1T S fovga sreag |

(A) e

(B) T

(C) Fvw

(D) HEFTHF

HISThT il saiaqnd sesal &
a7 T 2T i |

(A) &me
(B) v
(C) wHamwE
(D) witfesfs i stiomazasiiem

FIGIOAEE HE TS|
(A) 1959
(B) 1970
(Cy 1977
(D) 1989

SITHT T =R AT A1 9 ST 4T e
a1 st g el 2
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HAHH 1 T s 38 S
(A) FFAIANTHA A H IR S
(B) ETSOTEHR T8

(C) =MTFIIM

(D) TeeTTeme 91

et s afisfad e

(A) firers yer ged 2

(B) Torares =y & & wltnrremeh 213 2

(C) Frems =i e Renefi # ey &
FE] ST & e

(D) =TT TEfT |re % fawm ¥ fo
Sy 1 1 gl &

R 1 Re=mg wom % g @ R
T2 | TR ATGAH T T 9

(A} Wintuk

(B) Helanca

(C) Bi-Loft

(D)
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IMPORTANT INSTRUCTIONS TO CANDIDATES

IEdfieari o fere wewget s

11. This booklet contains 48 pages. 1. =0 E[fﬁﬁ“f"ﬁ 48 ot o
12, Please check all the pages of the Booklet el : -
carefully. In case of any defect, please ask 12, @@m[%w'&@fﬂﬁmﬁsﬁfﬁﬂma‘ﬁ B
the invigilator for replacement r:f the Booklet. FEENE, A e i 30 Fee & o e |
13. Directions : Each guestion or incomplete 13, Fdor : ucdien w¥ STUET IeUE 31‘@5%%#'&13
statement is followed by four alternative = WAL, SRS Lo
suggested answers or completions. In each L S
case, you are required to select the one that ¥ s ot v =1 AT @ S I o I
fr?;fegg' 3“3‘?‘“55“; qé’kﬁ’ﬁi’?: ;f"f me"?tﬁtﬂ 3 19T U G AT ST IR -
statement and blacken (@) appropriate - N -
circle A, B, C or D by Blue / Black Ball-Point 7 3 e @ A, B, C 21D et a1
Pen against the guestion concerned in the HIE Hiei-9i5e U9 d FTA (@) FATE |
Answer-Sheet. (For V.H. candidates {mm % Tt g TieTER
corresponding circle will be blackened BaR
[T 'T-'." by the scribe) A e fea ﬁfﬂl)
I 1 14. Mark your answer by shading the appropriate 14. e usA = W 3iem g ol (TR &0 3T
i i circle against each gueslion. The circle should : o 3 i Faymifr =
| ; be shaded completely without leaving any space, = %ﬂﬁ ' ‘iﬂ I mé ma‘ﬁ it
\_f_:- The cm‘eci method of shading is given below. ﬁ?‘ﬂﬁﬁ =i o wdl el e e e |
4l Wrang Weog Method || Corroct Method e e Al || o et || He wiE
D@DD D@GC} D@_QQ_DIDD @DC} CP00|0eCcO|Oe00
after careful consideration. ﬁﬂ%ﬂ FAAT IR |
15. There is only one cogfdkahiw?rﬁ:c each 15. TEF U S A4S OF ¥ Wel IR | 39
guestion. You should blacken (@) the circle A : A
of the appropriate column, viz., A, B, C or D. ”E“E\E”ﬁ #ielH i A B, C MDD J E"ai[
If you blacken (@) more than one circle W F T (@) BT R | 4TS 1 R e
against any one guestion, lha answer will be T T & 31T TR T R (@) ?f'f
treated as wrong. If you wish to cancel any e A S Y
answer, you should completely erase that black SHISERESNE TIGTR S SRR | P a3
mark in the circle in the Answer-sheet, and T2, FAT S A1 1 IR 3 3 TR
then blacken the circle of revised response. Hﬁﬁﬂﬁ'ﬁ‘iﬂﬁ@ﬂ%ﬁﬁﬂ% fﬁﬁ'ﬂﬁ'ﬂ@lﬁ’{
. A machine will read the coded information T F P e @R e |
in the OMR Answer-Sheet. In case the A _ -
information is incomplete/different from the 16. 301,09, 230, Iwafn | ol 78 5 4= U
information given in the application form, the wefta el | R T ST & e ST =
candidature of such candidate will be treated #1 5 21 ) f o
as cancelled. AL 7@:'} i ﬁF" & W #
17. Usa the space for rough work given in the T et =t |
Question Booklet anly and not on the Answer 17. &=a F & fon waa w9 9 1 fBu e wam w5
o g E | 36T i e i A |~
18. You are NOT required to mark your answers ¥
in this Booklet. All answers must be | 18. 38 Uffenl & 31=31 STOs1 I 3Afehd T2l
indicated in the Answer-Sheet only. FA 2 | TR AEE T-TEE A E |

Go through instructions given in Page No. 1 (Facing Page)
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